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Similar Triangles Review Sheet

1. Triangle SUN has coordinates S(0,6), U(3,5), and N(3,0). On the accompanying grid,
draw and label ASTIN . Then, graph and state the coordinates of A5 UMW, the image of
ASUN after a dilation of 2 centered at (-1,4).
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2. Triangle ABC has coordinates A(2,1), B(6,1), C(5,3). What is the image of this
triangle after a dilation of 4 centered at (6,4). Graph both the image and the pre image.
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3. Determine whether the following triangles are similar. Explain your answer.
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4. In the diagram below, AR =15, RF =12, DO =10, OG =8, and ZARF = /DOG .
Must AARF ~ ADOG ? Explain your answer.
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5. In the diagram below, a sequence of rigid motions maps ABCD onto JKLM.
y
Which of the following statements must be true? r
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6. In the diagram below of A ABC and AXYZ, a sequence of rigid motions maps £4 onto
LY

b
ZC onto ~Z, and AC onto XZ.
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Determine and state whether BC' = ¥Z. Explain why. L[QS/ —")wj (0fle 3[_’)0’);{)
Determine and state whether Z4 = £Y . Explain why. 1\\(% ‘\.N\\S C{O /)' L COI m /)(J

7. In tnangle SAL, N is on LA, and E is on AS so that AAEN LL
If AE 6 ES 12, and ES= AL find NL.
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8. In triangle CHR, O is on #R, and D is on CR so that LH= RDO
If RD =4, RO =6, and OH = 4, what is the length of co?
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9. In the diagram below, the vertices of /ADEF are the midpoints of the sides of equilateral
triangle ABC, and the perimeter of A 45C is 36 cm. ”3(,7 m
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What is the length, in centimeters, of Z7? \ Q—
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2) 12

3) 18

4) 4

10. In the diagram of MABC shown below, D is the midpoint of AB, Eis the midpoint of
BC, and F is the midpoint of AC..
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If A8 =20, BC= 12, and AC = 16, what ¥$’the perimeter of trapezoid ABEF?

1) 24
2) 36
3) 40
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11. Triangle ABC shown below is a right triangle with altitude AD drawn to the
hypotenuse BC.
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If BD=2 and DC= 10, what is the length of AB?
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12. In rlght triangle ABC shown in the dlagram below, A
altitude BD is drawn to hypotenuse AC, CD = 12, and AD = 3.

What is the length of AB? _u_ [/
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Given AAEC«&BED which equation is true?
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14. In the diagram below, A D& is the image of AABC after a clockwise rotation of 180°
and a dilation where 45 =3, BC'= 5.5, AC=4.5,DE =6, FD =9, and EF=11.

Which relationship must always be true?
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15. In the diagram of A ABC shown below, DE || BC.
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16. To find the distance across a pond from p'omt/B topoint C, a surveyor drew the A= g
diagram below. The measurements he made are indicated on his diagram.
Use the surveyor's information to determine and state the distance from point B to point

C, to the nearest yard. A <

17. Describe a sequence of transformation that would map AA4DE onto AABC. What is
the relationship between A ADE and AABC? Explain your answer.
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18. Triangle ABC and triangle ADE are graphed on the set of axes below.
Describe a transformation that maps triangle 4BC onto triangle ADE. Explain why this
transformation makes triangle ADE similar to triangle ABC.
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19. In ASCU shown below, points 7' and O are on sSU
and CU, respectively. Segment OT is drawn so that

LC=ZO0TU.

Prove: SCe QU =0T ¢ SU
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20. In the diagram below, G is parallel to NT, and IV intersects GT at A.
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Spiral Review:
All transformations produce a congruent figure except for dilation.
Dilations multiply

21. The vertices of AJXL have coordinates J(5,1), X(-2,-3), and L{-4,1). Under which
transformation is the image AJ 'K 'L’ not congruent to AJKL?
. . .%q .
1) atranslation of two units to the right and two units down
2) a counterclockwise rotation of 180 degrees around the origin
3) areflection over the x-axis
@a dilation with a scale factor of 2 and centered at the origin
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22. Which transformation would result in the perimeter of a triangle bemg different from
the perimeter of its image?
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